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NOTE: Wrile answers to ihe questions on objeclive answer shea! provided. Four possible answeis A.B.C & D 1o each question
ire given.Which answer you consider correct, fill the corresponding cirele A,B.C or D given in fronl of each question with Marker

i pen ink on the answer shicel provided.

l.1. The energy stored In coal Is;
{A) Heal energy  Jilees
@ Chemical energy  Ji1 5T

2. Whal should be the approximale length ol a glass lube lo

construcl a waler baramelas?

(A) 0.5m (B} 1m
3. On Celsius scale, Ihe lemperature 200K will be.
(A) 26C° (B} 2sc*

4. In gases heal is mainly transferred by.
(A) Molecular collision 7,547, 8

. ‘Cunmllm -;f‘:f
5. Moluma af 1 bire is equal to ;
(A) 1em? {8} 10em?
6. Cheetah can run al a full speed of:
_ (&) 60kmn* . TOkmh™

() -10ms"

. £ero

8. Which ol the lollowing matenal lovears Iriclion whan

pushed belwaen melal plales?
(A) Waler (L
(C) Air  Ix

+._1'J:.-§.£iu¢.£‘.-" A
(B) Kinetic energy (L7 ¥
(D) Muclear onergy (fAL2%
adUd Al Ll 2

Y&l
(C) 2.5m @ 11w
300K E A S a
(c) 24C" ® ¢

-3t 4
(B) Conduction o~a -
(D) Radiation /il
...i.'_h-?utr-{ﬂ'l' -

100cm . 1000cm?
F-g.l::}:.‘;‘r.‘:-:;ﬂﬁryauy?* B
(C) BOkmi (D) S0kmh*

7. Aballis thrown verically upward, its velocily ol the highest point is: -4_LJ.-rd’me.;dAJl?l+gf Al it O 7

{C} 10ms™ {0} none of these

Wenl ot Ul S f 2 S i 8
e l:’lh'ﬂ [J;'l'ﬁ.ﬂ-wn’: el

(B} Fine marble powdershi KL

® o Ji

9. A boy jumps oul of moving bus.There is a danger for him lo fall, -95ﬁfifdﬁﬂm-+.tﬂillf;...'!;,.—'!.L:iﬁ'f}'_l_:'l R

(A) towards the moving bus  —iASU 0
@ in the direction of motien  Lenf7

10. Two equal bul uniike paraliel lorces having dilforan)

line of aclion preduce.
(A) a tarque it

. a coplo

11. A lorce of 10N is making an angle of 30° with horizontal.

Its horizontal component will be:
{A) 4N (B) 5n

(B) away from the bus e 5
(D) opposile 1o the direction of malion (2or il
uﬁuw'ﬂt'uﬁ}ﬂ;bﬂ.ﬁ-ﬁ?@?dthu A0
Ll g n B
(€) eaulibrium A5 (D) neutral equilibrivm 205 15
.r;_,]n,,;r;r:.u' ALk i1 11

12. The value of g ol a height onc eanl's radius above the surface of canh is: -« drasddnal L utie il=dfg 12

in) 29 (B) %H

ol P i
(C) TN ® a7
1, LEE
3 4
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Note: You have four choices for each objective type question as A, B, C and D. The cholce -/ ST
which you think is correct, fill that bubble ln.lronl of that question number. On bubble shoal, use markor or pen
to flll the bubbles. Culting or filling two or more bubbles will result In zero mark In that question. Atlempt as
many questions as glven In objective type question paper and leave others blank. No cradit will be awarded
In case BUBBLES are not filled. Do not solvae questions on this sheet of OBJECTIVE PAPER.

Q.No.1 E /,"J!r

(1) ___ isthe smallest quantity. el (1)
(A) 0.01g (B) 2;::3 (C) 100mg @ 5000ng
(2) Conversion of Irft" to Kmh~" is equal to:- .C_J;rdjl.xﬁ J' Lk Kmh_'J ms”~
(A) 0.36 Kmh™' B) 0.036Kmh~" @ 36Kmh™" (D) 3.6 Kmh™ )
(3) The unit of Momentum is:- . -.;;...'.q'i’('/:’ (3)
(A) Nm (8) Kagms™ @ (D) N5~
(4) Newton's First Law of Molion is valid only in the absence of- _c.t-rdllblfdrujﬁkéuz{ﬂtﬁh’/ J
(A) Force (s @ Net force 72 (C) Friction u’/‘ D) Momentum
(5) Aforce of 10 N is making an angle of B'::..wrrd’ls'\,bs’w .z.'..dL.JW 30¢ AL f[( ~ xyiif (w:) 10N ()
30¢ with the horizontal-axis. Its horizonlal component will be:-
(A) 4N (B) SN (C) 7N 8.7N
(6) Thevalueof & ata height of one earth's radius above the -g.Jﬁ{dz:@d:VZ. é;&-ﬁ};.uﬂiﬁ::-f J& (5
surface of the earth, is-

(4)

W 2 ® 35 @ ;¢ ) 3z

(7) If the velocity of a body becomes double, then its Kinelic energy:- -:J}iu@Jwa?Ltgnl:fnu" U:J({J :fl (7)
(A) Remains the same r_u’ JO g (B) Become double (T'.i-}Lg.\‘I[}{JJ
@ Become four times c.dbnlfb (D) Become half .;_.ﬂ@ugﬁf

(8) Rate of doing work s called:- GEASLS L 8
@ Pover | (B) Torque St (C) Velocity s (D) Momentum ¢

(9) The approximate length of a glass tube to construct a -g.l:ds-:ljwjl,l&,,ﬁ J&l i, Sz KBI: (9)

waler barometer should be:- ) | '

(A) 0.5m & '~ (C) 2.5m (D) Im

(10) The number of ways by which transfer of heat takes place:- -.'T-_:L'.JJU;! L= 076 (10)
@ (B) 2 (C) 5 (D) 4

(11) The value of specific heat of dry soil is about:- el ied (PN (1)
(A) 4200Kg~" k! @ s10Ukg 'k o
(C) 700JKkg™'k ! (D) 3000JKkg ™'k~

(12) Land and sea breezes take place due lo:- -;d,:dl,.-_-_;,J U ‘f,,pd dr" (12)

.Conveclzﬂn current 4% (B) Conduction er.d’ (C) Radiation u’ “I§ks  (D)Absorption ¢l
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NOTE: Wrile answers 1o the questions on objeclive antw

are glven.Which answer you consider correct, Ml the corres
or pen Ink on the answer sheal provided,

1.1. Absolule zere is aqual la:

c-btralritrtn
(A) 273°C @ 2r3'c (C) 100°C (D) 212°F )
2. In solids, heal is lransfered by: e jr;ﬁ;ﬁwugﬁ
, Conduction ™3 (B) Conveetion 25" (C) Radialion w1 fi. (D) Absarplion eazl
3. The least counl of metre rod is: -~ b
® 1mm | (8) 0.01m {C) 0.01cm (D) 0.01mm
_"- Which graph represents a uniform acceleralion? v.;_r,ﬁﬁ&?}'fy.u_:g_lbr U/
L L) W v
- (A) R ® I i () t . (©)
: AT i " t
5. The unit of accelaralion is: _,-_M,ﬁ)'gl s
(A) Kmh™! (8} ms* @ Kmh? (D) KmS" '
6. Il velocity of 1ha'hnd1.r becomes double, then cenlripetal loree will bo: -Jnhr;ifd:qjﬁ;;;r.:g;ﬂrj’ﬂuff? -
(A) Hall i ! (B) Thres times grealer wls et L
(C) Double ] @ Four times greater oL by
7. Inerlia depends upon: b AW
@ mass L (B) Weight e (G} Velocily (i (D) Netfforce (oo
8. Tho slates of equilibrium are: ' " ...uj.,;.:’bJrI;\ipf i
. Az | ®: (€} 4 ‘ o) s
8. Aforce of 10N is making an angle 30° with x-axls. The MUV 300 FLL y-ri.w,j _g‘-rcﬁ,,gm
horizontal camponent of this lorce will be: -i'_—m._-'.r;rﬂllfmlﬂ_q_
(A} 4N (8) TN (C) &M ® son
10, Earth gravilalional force vanishes al: -Im_'jl..u:.,fl.‘.u:i'd"‘-"d:fJ [
@ infinity Jetunoty (B) 6400Km [C) 1000Km (D) 42300Km
11, The work will be maximum when angle belween L b idatinlie orn
force and dlsp!ainamunl Is: e bataalillen
(A) 45° . @ (€) 6o (D) 80®
12. In 5.1 system, Ihe unil of Young modulus Is: -if.‘dﬁ;'fdll._ﬂu_ﬂu"t}y‘""
{(A) Nm : {8) Nm* @ nm? (D) Nm

227-09-A-$7 9%
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Marks: 12 ' Time: 15 Minutes & 1= 127
Adrop gt eon i Pus £E DM CB ARSI L Fhiapndpdhainlovevid
. _Q,,f.;.ﬁ!_..&;ﬂ.p‘:lfh}bjh?c_uﬂu:ﬂrﬁu L CB Al
NOTE? Wiito answars lo tha quastions on objective answer sheal provided, Four possible answers ABC & Dlaeach
queslion are givenWhich answer you consider correct, fil the corresponding circle A.8,C or D givan in front ol each ques
wilht Marter ar pen ink an the answer shel provided

lign

1.1, Waler Ireezes at; _-;.ryu;_lz.;.z-ﬁ.ﬁﬂk a1

(A} O°F ® =F (C] 273K D) 0K

2. In gases heal ks mainly ranslered by: _‘:_ﬁ.r:_whi;iﬁ%ul_,! =

(A} Molecutar collision  5LA¥AA (B) Conduction o &
: @ convection 5 (O] Radiation o#15Ls :
3, Ameasuting cylinder is used lo measure. T "—**'5'“"*3,5 3
{A) Lovel of iquid JZ¢Cy (@ Volume (= (C) Ares Lo (D) Mass b

4 Cheslah ean run at o maximum speed of TJ;.IJ:};:;hﬁ-éfg?::}i:_h&iﬁ: K

(A) E0Kmh" ® 70Kmn" {C) BOKmh' (D) BOKmh"
5 Whal is Ihe value of 'g* on the surface of earth? fe. u;;nﬁﬁ:-'-fl!'n' 5
@ oms? | (8) 10ms” (e} 1om (D) 10em’
§. Cenlripelal lorco always acls___ io ihe molion ol body, q.g..llfJ' _EﬂJJrJﬁ.ﬂJﬁM}& B

.~ [(A) Opposite i [B) Parafie! Ss @ Pependicular T (D} ol on anglo of 4574 i 45"
7. Co-efficient of Iriclian belwaen lyre and dry road is: +d;r.:—§£ﬁ_ﬁ#ljﬁ,ﬁym,,rﬂ 7

. (wos @ (c) 0.05 (D) 0.2
8. Two equal bul unlike parallel farces having dillesent ,Lgafw,:'&ﬁﬁ_ndfwﬁﬁ?,;,ﬁﬁjw;ﬂ?d,p" 5
line of aclion produce:
" (A) Torque Lt @ covple (©) Equilorium  AASE1 (D) Neulral oquilbrium A1
9. The number ol perpendicular components of o force o ;?Jxﬂﬁﬁ;ﬂj}.’ﬁ}ﬂf -
(A} 6 2 fcy 3 (o) 4
10. The orbilal speed of a low orbil sateflile is: uq-Jﬁgfd-...f.ﬁfJa{ﬁr'Lhﬁg .10
(A) Zero {B) EmS" (C) BODmS™ @ eoooms” '
11, The work dane will bo zof0 when tho angle between ihe force and tho distance Is: -= m,;l;w.r.i_hhu;}._.dg)*.ﬂ: A1
() 45° | (B) 60" ® (o) 180°

12. According lo Hc;uku'ﬂ law; b Ll L A2

7 @ Stress/ Strain=Canstant J;rg,r:.:ﬁr" (8) Stress x Straln=Conslant Apre gt

(C) Strain / Stress=Consian! g AhAp=22Y (D) Siress= Sirain R
317-09-A- %%
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NOTE: Wiite onswors 1o ha quastions on olijeciive answer shoel provided, Four possible answers AB.C & D 1o oach quastion

ata ghven Wiich answor you consider corect, fil he coresponding cirgle A,B,C or D piven in fronl

of pen inh on e answer showt provded

_ Bclion produca
(A) @ torque 0t @ o couple N
4. Eanls gravilalional torca of ziiraction vanishes.
@ Infinily distance JoEnsd (8) 6400Km
3. Rale ol doing work is cafled:
(A) Enargy it (B) Toraue it

4. In which ol tha following stale molecules do nol loove their position?

(A) Plasma L (8) Gas 7
5. Which of the following affecls evaporation?

(A) temperaiute £z
(C) wind 1s .
'E. In soligs heat ks wansfered by:
(A) Radialion il ) Cenduction i
.- An inlervoil of 200405 15 equivelent to:

al each queston with Marker

I I = T oo - ﬁ
1.1. Two equal bul unlike paraliel forces having dillerent ine of .-;_dfiﬁ;:hi—ﬁ:f‘fufﬂﬁ;ﬁfﬂiﬁﬁvﬂ‘ﬂ'@"d*“” A1

(€) Equitbium FALE1 (D) Nouteal equibrium (SASEIA:

e denst o i e 2

(C) 42300Km {0) 000Km
-..,.r_r{‘ff[..-;ﬁfi.f_fﬂ =
. Powor sl (D] Momenium l}k;"

T AR I A
® soic A
il dier 5
(8] surface ares of the Tiguld LarldEh
@ =iclthem U

(C) Liquid &t

e Hinfinspin’ 8
(D) Absorplion ¥tz
e dn-izhfzoe 7

(C) Conveclion ¢r&s

(A) 2z10*s (B) 0.025 2:107'S (D} 2x10"%s
0. A bati I3 thiown verticaly upward, lis velocity ol the highest potntis: -Jatefuriyrverid e Lite AL G0 8
@ ie0 {8) -10ms"” (€] 10ms” {0} 2.8ms"
9. The value of 'g on surface of earlh is: esilgtill 8
(A} 10em? (B) 10m {c) 1oms” @ 10757 _
10. Inertia depands upan: - brAdNEh 10
{A) foree gulod (B) nelforce gl . mass st (D) veloslly ¢t
11. The unil of momantum s: i A
{A) N (B) Kgm? ® ns (@) ns"
12. The number of perpendicular campenents o lerce is: .._LJ:FE-FJ;FJML}E‘MJ % s
Y (8) 3 9: ) 1

| I500ATT I
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Hl.'ll::! ?;;:iz:f::tii::’d.:; "'E-': Bubbles . fl!ar':'h'i'-f‘ﬁ nﬁ.,ﬂ.'.-..lr"JLj.': PN ¢ i LJ".E!E,ijJ:J': J.:....{l -T.{:‘,
B ——" :III or each abjectiva typa question as A, B, CandD. PN & IO T

s corract, fill that circle In front of that question numbaor, Use marker ar pan
to fill the clrcles. Cutting or filling two or more circlos will result in zero mark in that questlon, Attempt a8
many questions as given in objectve lype question paper and leave othors blank. No credit will be awarded
a‘ ﬁ?: BUBBLES aro not filled. Do not solve question on this sheot of OBJECTIVE PAPER.

(1) The value cf £ becomes al a height equal lo

one radius of the ezrh more above he Earth surface becomes:-

| I
a4 I 2 ¥
(A) 2¢ B) 3& € 3¢ @ :
R
(2) Hammer raised up has energy:- .g_d:;w'uf-'-—zf"ﬁe-i
@ re JaH (B) KE dali¥ (C) Sourd Energy [/ 2il- (D) Heat Energy Uz
(3) The un't of Density in System Internaticnal is - -.;--‘*’Ei'qf'i Ih':ﬁ'f_’
(A) kg By kg (C) kgar ® un”

(4) is a nalural thermometet. < ‘-:',} ot

@ Crocus Nower JH K12 (8) Rose flower )

(5) In gases, healis mainly wransferred by.-

& ,.
K_if (C) Sun flowsr €L (D) Liy Nower S

& s ay ¥
e Flruli ==

Conduction & @ Convection ¥ (D) Rediation 14

(A) Mclecular Colision $.5¢/% (B)
: ..'L hr;ldfli.-rg' fuj;ﬂ'hhh]{

(5) Global warming is due [0 a gas:-

(A) Oxygen & T @ Carbon dioxide 1. S7hize0,€ (C) Caroon monoxide YL Tvetss (D) Chiorine oSk
(7) One Femto 15 equal tor- — gy (Femio) .J'Ei_.!'l

(A 1077 (8) 10" @ " iD) 10"
(8) The number of basic anits in S1 is:- ERRAN A

(A) 3 (B) 5 &7 (D)

(8} The speed of iger is-- ' e dntnfz
4 (B) 700mh™ (C) 7000 ™ @ 70000 mi

P e

(10) The unit of womentum Is:-
(A N (B) xgms™ ® NS (D) NS~

(1) The number of perpendicular components of a force is: -;:iﬂﬁn".f .f“'};#:jn".”_'.}&f

o @ 2 (c) 3 () 4
(12) The Mass of Earth is:- Y | U
. 6x10%¢ ¢ (B) 6x10%g (C) 6x 10" g (@ ax10%g

& A A

: u':;w_‘..u':,u;:n.e:.;.r.‘:. ;.-.;’:Jlr..-r,; Iﬁ!.u: ‘.,,_TE{.: Do C.BA _;p‘u,f;ﬁ,k;_hm g T

=1 f_}drr
-J:-:-Jlru-'-f v & {Jﬁ-&)ﬂ'iﬁb#&-ﬁﬁﬂ‘ihtJdﬁ (1)

(2)

(3)

(4]

(3)

(8)

(@

(E)

()

(10)

(1)

(12)

t

-
|
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NOTE: 'lu'ul'ritu answers 1o the questions on objective answer sheet provided, Four possitle answers AB.C & D to each question
are given.Which answer you consider correct, il the correspanding clrels A B C or D ghien In front of each question with Marier
or pen ink on the answer sheet provided.

1.1, The waler c;mmrlu into ica st the temperalure. .-E-.-t'f.l‘l'q,t.ﬂ_aﬁ-i‘{.: j-,g",_.ﬁgjg A1
4 o'F ! @ x2'r (C) -273K (0} OK
2. o #6 hoalad taing gas healars b, ' v L fe il gt 2
(A) conduclion only e s @ convection and radialion =ikt
(C) radiation only L;ﬂq,;.;.- (0) convecliononly =
3. 3" equation of motion is: : ‘ e A 3
(a) S=W ) ¥ =vital (o] yWi-vi'=2as (o) F=ma = )
4. The branch of Physics which deals with study of motion of objects, Vet zmte LML LT 4
iis causes and efieels is called: e (it e
® &) sound (B) Kinematics SK¥ @ mechanics F (D) themmodynamics er/
5. Leas! counl of :l.cmw gouge Is: - ._.;_..r.iif..l-:'i'ﬁ‘;:'f' 5
- (A) K= 1em (8) #0.001m @ ~J oot mm () #d 1 mm
6. The speed of Chestah is: 40z 6
(A) 75 km h'' ® 70km b’ (C) 60 km b (D) 80 bom
7. The valug of Sin90 is: : i 5in%0 7
(A) 2810 {0) @1 (c) 10 (D) 0.5
8. One horse-power Is equal to ' - denbhLl B
{A) 764 walts ® 746 valls (C) 2745 joules ©) (/746 Kg
9. ;'I-fhll.‘-h force rotales the body in o circle? t-g-ﬂﬁ#r..ﬁ!:f(" *._r:.}.,ﬂ" a
{A) magnetic force Lk (B) Gravitational force A P52/
T @ Centripetal force JudRiE (D) Ceniifugal force  itib s
10, The value of earth mass is approximately : L A 0
(A) 6:67 x 10° Kg (™ 6567 x10"" Ky @ 6x10™ Kg o) 6x 107 Kg
11. One mega Joule ks equal o —etada bl 11
(a) 10% ® (c) 10% (o) 10%)
12. Al sea lavel, the atmospheric pressure is: e rnﬂ{..fé'l.h-r{wt' A2

(A J110107 Pascal  (B) 110300 Pascat (€) 110130 Pascal @ 101300 Pascal
22000 AW
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Note: You have four cholces ln"‘ i 'fﬁ"ﬂmﬁ'u"&ﬁw.ﬂ.fi Juv .?__,Q'fwjﬁuy-:..ﬂ -5
r each objective lype question as A, B, € and D. -L{JF';JJ:{-'-WP’{-H#
The cheice which you think is corroct, il that elrcle In front of that question number. Use marker of pen
to flll the circles. Culting or filling two or more circles will result In zoro mark in that question. Allompt as
many questions as given n objective type question paper and leave others blank. No credit will be awarded

In casa BUBBLES are no: fllled. Do not solve question on this shoot of OBJECTIVE PAPER.
Q.No.1 A A

(1) &force of 10 N makes a1 angle of 30° ,f}:.,.g,;ﬁtr;-.‘.;,.".,rr s Juigrst 30° fr.‘-"_'f{l X Al 10 (1

with the hanzantal ils nenzaslal eampanenl will be -
(A) e (B} 5N {C) TN @e7n

{2) The value ol ‘g’ ot o heignl onc Ea-ir’s radius above .._;..J;:;-_j‘;:-':\,:h*.--.i ..'dé.--l’:-l:r:f'&-.'p’:j{':'-'*".:l! ') (2)

the surface ol the Earth s, '
(A28 8) 12g (c)13g @9 -

.l, gL _i."’ n A ,Ir.r
{3) Il the velocily of a body becomes ‘counle then its Knetiz Tnergy will- -gr:-.,:-a".E;'t.:u‘*r—-fﬂ-'ﬂ.-"‘-‘!l}:’} g {3

(A) Rerains e samc .;_J e (8) Becomes double j_.jg:-':ﬁ
@ Bccomes four times — donelil

{4) Molecules do nol leave Wheir pesitionin ____ sipta
@ soid ¥ (B) Liquid &1 (C)Gas *

(5} Mercury is used as thermomeine malenal because it has-

(D) Eecomes hall & Jyasd
-
i Jrf-,,".?,:ﬁ; { JT'.-"”;,Q L= s {41
(O} Plasma kit
e v WL LR Srr 8)

- .:._.. 'f.lr- - & . "~
(A) Uniferm thermal expansion 7 slizaf  (B)Lowlreezing point ==t /'
@ 41 hese aropentles =ik
(6) In gases. neat is mainy liansfered by - A*:..:._-*h’_-,.;-.rv'-ﬁi}u:;,_,i;-:' (6)
{&) Moleculsr Collisian }lffr’i';'ﬁ (B) Conduciian .,;.:":'-" . Conveclion q.;::f (C) Radation IR )
..;.ﬂg'-_-?‘ﬂ“a—a?:“&"_q (7)

© Volume (0 (D) Level of tiguid J¥E.S
Juteduns me! o leieied WRmh AL ()

(C) Less heal capacily _,'-"fg‘-';_i,rf_-”

(7) A Messuring Cylincer is used to measure:-
(A) Mas3 7 (B} Area Lg*
(g8) Alrainiz moving at a speed of 38 kmh!
its speed e:presséd i ms” ! wil be- )
® ms (B) 20 m3z°! (cy 25 ms™! (D) 30 rs”?

2 e = ) . - ) _ - = )
e lindt i) -."_.":'rgr: 25 ms'! ,._u;'d—l_-l.-a!..ﬁl? 20 *'E-F-r'f'il:!;n‘-?l:"-‘—-:-'!#lfi—:ﬂr-{‘ (3)

(a) A car starts moving from r251 It acculres a speed of 25 ms*! after 20 . The cistance covered by the car

during this ime will be - (A)3125m @ 250 m (C; 500 m (D) 5000 m
(10} Inenia depends upon:- e A (10)
(A) Force Ju? (B) Net force izt (@ Mass 1L (D) Velocity ('t
(41} A bay Jumps out of @ moving bus thare 15 3 ganger lor ....;.:,W‘L.rff.u-l _g.r{'.tﬂur_’-:-u':u'ﬂ:h:@:;ﬂ-'..{l (11}
aimtofeli- {A) Towards Ihe maoving bus JfJJ:Jr:J:-' (8) Away from Ihe bus = v
@ i ine giraction of motion ==~ S (D) Opposite 1o the direclion of molion I 5
(12) The numoer of perpendicu'ar componenis of a force Is.- - f;.,,,.,;u'._,-‘-;;l',':,,r;__:f ALY

(A) @ () 3 (D) 4



P_h}'ﬂiES (Objeetive Type)
Marks: 12

NOTE: Write anzwers 1a the questions on objactive an
are piven.Which answer you consider correct,
of pen ink on the answer shest provided,

4

1+1l

-"l
=]

11,

12.

LA drng ey e T

Newilen's first law of motion is valid enly in the absenca ol

(C) Radiation /%S4,

swer shael provided. Four possibla 3
il {he comesponding cirsle ARG or D gwven

GI‘DUI!‘!'T.I; {Lﬁf}ﬁ

Time: 15 Mioutes w1613,
VELL DA CBANEENL Sy ey

12
Wfﬁdﬂpﬂdﬂﬁ Vrpliis )
LD, CB A zeL
nEwers ABC & D fo aach fuestion

in froal ol pach gueshion with Marke;

e bt e e g

_nnn' micromeler is equal to: et 17
{A) 10%m . 10%m [C) 10*%m 0) 10°m ‘ ‘
Scalar quantity is: e ddtE o
(A) Velagily (i {8) Momemum ('*‘,- ® Speed L (D) Accoleration ‘ﬁ)-ﬁ
Rale of change of displacenient in: *.LL,’JJ;-U.:.»*'-"& 3
(A) Spoed L~ (8) Torque @ Velocily v, (D) Work s

- Which malerial lowers friction when pushed Lgenl o i Sl
between melal platos? e Qe oL ee
(A) Water (it B) Alr Iy
®on Ui

(D) Fine marble powder LG L
‘{-W#“’u?‘wf?-gdu.’d.jqﬁgr,;‘&.{ 5

(A) Force (o (8) Momentum (% (c) Frction 0 @ Netforce (ias
 Aforce of 10N is making an angie of 30° with norizontal,lis e Jh,-rjfm‘#ﬁrflmi.ﬁuﬁf&m K
herizontal component will ba: Hrnand P
(8) 4N : (B) 5N (e} N ® =
Two equal bul unike poaraliel forces having #JL‘:LFJH;’.F;‘?:}JM.E:I'@H |
different ling :Icr aclion produce; -u;ﬂfi{.pm.:.._:u;d..g
(A) Torque Lt ® couple K (Cl Equiibrum  £ALE1 (D) Momantum s
. The value of ‘g’ ot moon is: ecif'gesy B8
(A} 1.5ms* - (B) 1.7ms? @ 1 Ems (o) 1,l]m'r"
Work will B2 maximum when ha angle belwien lofce and Ertaiylends +-'=!f’!uh_.b fafirnlicatiSs 0
gigplacemenl will be: s .
weot ‘ @ { o
., The unlt of pressura |5 ¢
(A) Wan = (B) Voll (C} Joule oz ® Poscol i LAAd
Tne_lampﬂm_iure at which waler lrecrzes: . - b L .
(A O°F o @ 9 el fmarliasd 12
In gas, heal Is mainly tansferred by: ‘ I_,,‘s";r' ;
(A) cmducu!on o @ Conveclion o

(D) Molecular calision  $AJu/AA
225.00-A- %Y



MAXIMUM MARKS 12 12= AF
Lo chy Ffiin 3ol enen Lurtnil s g -4 © 1 C B A Sl Ly -d
N Al el L2 Bubbles  Frrii rulilam§L S Jot y LI i £ <251

Note: You have four choices for each objoctive type question as A, B, Cand D, .{{Jﬁd’fﬂﬂr{,“.efr

Tho eholes which you think Is eorroct, fill that clrcle In front of that question numbar. Use marker or pan

to flil the circles. Culling or filling two or more circlen will result In zaro mark In that question. Atlampl ag

many quoslions as given in objoctive type quasilon paper and laava others blank. Mo crodit will bo awarded

In case BUBBLES ara not fillad. De nol solve question on this shoel of OBJECTIVE PAPER.

Q.No.1

A A

(1) The number of significant figJres in 100 8 & Is:- e forafis W008s (]
Ay 2 (@) 3 @ ¢ D) 5
(2] The smalles! quansity is - . -{--’J'l}'ﬂ'—'—-* 2)
(A) 0.01¢ (B) 2mg (€} 1034g @ 5000 ng
(3} Faicon can fiy al a spead of - eFheded ___e® B
{A) 200 mh {8y 2000 mh™? (C] 20000 mh~ @ 200000 mh”! :
(4} Inertia dapends upon:- A )
A Fores b F (B) Natforce oiws @ Mass Ut {D) Velocity %
(5] In a right angled triang'e length of base is Sedilaie aem Jpsdn 4 em AN B S (5)
4 ¢m and lengih of perpencicidar is 3 em, then tha ‘ength u"r hypotenJse is.-
® 5cm 25 em [C) 50em {C) 75cm
(6} The value of "g" at maen's surface is AL 100kg ¢ib e 182 EE DS 18
1.6ms2 . 1ne mass of 100 kg body on the sJrface of moen will be:-
(A) 100N @ @on (Ci 1000 N ) 1600 N
{7) The alituce of Gaoslaticnary Orails in which -q.ﬁm-_,_-r'.'}fﬁ.d;._:furh:r p o _.J':_l'r_.f__;l_*lfﬁ‘;f IO #{; (7)
communication satelite are launched abova the surface of Ihe Eann is:-
(A] E50 Km (B) 1000 Km (G) E40D Km @ 42,300 Km
(8) The rate f doing wark is cafed:- =L .';':1':.}_{'.'..—:‘:- (8]
(A) Srnegy A {B) Tomque i @ Pover Ly (D) Momentum ¢~
{8) In___ state of matier, Molecules do nol keave their position ad ::#ﬁ.;."";;;,‘p;ff ,_ﬂ. Al it [§]]
® soid 7 (8) Liquid &\ (C) Gas 7 (0) Plasma Lk
{10) Normal 1amperature of human-oody is « 4 :.Ji'f'::i..'-u-.r..ﬂ' 10y
(A) 159C @37°c (G} 579F (0) 98.69C
(11) False celing is dore o~ et g Gustif (1)
(A) Lower lhe height of ceiling L:’.’:.;’ td=F (B Keep tha real clean i Selyg
(G} Cnal the raom ehone S @ nsulale he ceiling Sdiay
(12) ____ Is a goed radistor of Heal ..lL_,i'J._lr;.Lt'ﬁJ:—ﬂ.' (12)

(A) A thining siivered surfoes L Al
@ A dull black surface .f:;!*.-,.‘:-'},.;_._._ﬁ

(B) A white surfaco {a-S)
(Dj A green coloured suface &J-Lxl



MAXIMUM MARKS: 12

-'—-.f'-&afe‘«-_w:#;/;tﬁ;u:w;f,wL._.-;z.-..-m-_pt!u.-iu.i2,:::.#5»"

Note: You ha fff;"fh{""”"’»:ff.thru'f-f Lo Ak e S Sefem sk s
g . 1ave four choices for each objective type question as A, B,Cand D .The choie
ont o .Ihnt question number. Use marker or pen to fill the Bubbles. Cutting or lilling tw
that question. Autempt as many questions as given in objective type question paper a
case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.|

(1)  The formula for mass of the earth is:

1245

¥ 44V 2~ 1ZZ_—JDJITC'HM-.‘-LI:!JA:LJI:’,q-&b!‘
b Lamr$i s Sebi S} it
¢ which you think is comect, fill that Bubble
o or more Bubbles will resultin zero mark in
blank. No eredit will be awarded in

-Iﬁ}JU"

nd leave athers

:ﬁ_-_ur.am;ség:; ()
-1

(A) "w‘""(;{f @ A-!e=-%1£ (€) l\f¢'=%;ﬁ (D) M‘*%f

(2) The unit of energy is: e b (2)

(A) Newton /¢ @ Joule Jz2 (C) Meter £ (D) Second i

(3) One kilo joule is equal to: :.;_.r:r.fb:d.ef"_ﬁ (1)
(A)10J (B) 10°] @ 10) (D) 10*J

(4) The unit of density in System l'nlcmalional is: =«;--'-=£b’d""" -hﬁ»""";}"r"" (4)
(A) kgm' (B) Kgm™ @ kem” (D) kgm™

(5) The formula of conversion from Celsius to Kelvin Scale is: Ia.L.ll:’Jli'(L,ti.; u-;k‘ :J.-’:"::-J-‘J-’ (3)

(A) T(K)=270+C (B) T(K) =271+C

(6) The specific heat of ice is:

@ 2100 JKg"' K (B) 2200 JKg™" K

() brass is:
@ 9% 107K B)1.9x 10°K"

(8) - The unit of volume is:
(A) Meter # (B) Force s/
The formula of velocity is:

9
® V-!

|
V=-—
&) V=1

(10) The unit of force is:
(A) Meter # (B) Second ££

(11) The formula of momentum is:

.P=mv

(12) The Moment Arm is represented by a sign.

.L

(A)P=ma

(AT

(C) 2300 JKg ' K’

The value of coefficient of linear thermal expansion of

”.3 T(K) =273+C

:rl__d.r-‘.".:..xl.-‘J..J,: (6)

(C) T(K)=272+C

(D) 2400 JKg' K
:.:-_;,Zd'.:;-:';flf.f.io_ﬁ’ﬂarid?ﬁu% N
©19x 107K (D)1.9x 10* K"

tei gk (8)
.Cubic meter # (¥ (D) Second £
e Uy K (9)

-

(C) V=d+1 (D) V=h+1

: eesgfss (10)

. Newton o #

e le 0 e (1)

(C) Joule J2

(C)P = (D)P=Fxd
:‘.:.ri_pl,f,;tﬁr_. el iasr (12)
(C)F (D) N



PIIYEiES (Objective Type)
—Marks: 12

Grnun-ﬂ-..'.-:f
Time: 15 Minuies &2 16

L AMn g e Vo P £ L D C B AN L Iz e Tt e vy

e Pl i3 L iDL CB AEEL

NOTE: Wrile answars 10 the questions on ebjoctive answor sheel provided. Four possible answars A,8,C & O lo each quoest
are given Which anawer you congider correct, il Ihe corresponding circle A,8,C or D given In trant of coch guestion with Mar

er pen Ink on the answer sheel provided,

M. Unitof heal capacily is; SO T
@ (8} JK (€} Jr? (D) JK* :
2. The major source of hoal energy is: e il | . TP
_(A) Moon &b (8) Earth o2 () Nucloarfusks A4%2 @ Sun B
3. Baso unil is —ifdils .
(A) Pascal | J7y @ Kiogiam ¥ () Newlon o (D) Wall b
_ 4, Change in position in proper direciion is called: --PLJIE{J:HE#J{JHJ“".
(A) Speed i (B) Velocity (i @ OCispiacemant =+ (D) Distance L6
5. The unit of velocity is: -q-.‘-‘fﬂ.ﬁ: g
(&) ms (8) ms? ® s’ (D) mS*
«p 0O Co-gfficient of (riction betweon lyre and dry road is: _;..._-.E&Pf}.i f-n-r’..fhka-ruﬂ!u-f’n'ﬂ |
(A) 0.8 ®0 {C) 0.05 (0) 0.2
7. The formula of coniripetal acceleration Is: -.,:.mﬁti:.r"-')'frdﬁf;-‘r N
A g i 8) ge= () ac=nn' o :
n r B
B. The number of perpendicular components of a weclor an: .-_ﬂ.u?;.’f fﬁl’u’&}ﬂ o
Wz 8) 6 G) 2 (D) 4
9, The first condilion of equilibrium is; LLﬁﬁJr{l,JJfl J
W 2T=0 (8) 25 =0 © LF=0 @ YF=0
10. The orbits! speed of the lowes! crbit satellite is: cednifi Sl swl siille - .
T AZere (8) Bms” () 800ms” @ soooms”
1. The unlt of work is oty
@ . (8) N (€) m? (D) Ms
12. Liquid pressure al depth '/i" is equal le: N PV A
(A) Pgh® (8) pgh’ ® ror (o} PE

li

T 297-09-A- Y0 ¥r




PHYSICS (NEW SCHEME)

(f-‘ £) u""
TIME ALLOWED. 15 Minutes OBJECTIVE d"fv/“ﬂ e 15 = o3
MAXIMUM MARKS 12 12= 4F

Aeif | SAh 38 30L s £ ML s L Jrpg§Win 2L D w C B A W2l Ly o)
{344 -fa‘...ﬂ:d/-} LI;’I.‘-—H‘JA-I £ l(}.ul.l -frf;r‘:ﬂ.rla’uﬂgﬁuﬂfd_.r& orgt i'..fap{}.l/lm}}:_\.ﬁ -&

Noto: you have four choicos for aach objoclive type question as A, B, C and D. The choice _q.rf,d'.&-.:.mr
which you think Is correct, fill that bubble in front of that queslion number, on bubble sheet, Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded In case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 -1 A
(1) Which one of the following units is not a denved unil? 1‘:1_“5".:;,_-‘5}|..-.;;'L-¢,u':-_ S (1)
(A) Pascal @ Kiogramme 1 (C) Newton (D) Watt L1y
(2) Which of the following Is a vector quantity? | f, NP S, i at (2)
(A) Speed i~ (B) Distance ~6 . Displacement g (D) Power sl
(3) Inertia depends upon: s';.{.jﬁuﬁryx._.,-gb;w (3)
@ Mass Ut (B) Force (? (C) Netforce i’ (D) Velocity 1
{(4) The S.| unit of weight is. -z2fY Sy (4)
(A) Watt 1 (B) Kilogramme r'/:"’ (C) Gramme !**.-" . Newton
(S) The number of perpendicular components of a force are: ..g..&ml»"J u‘:f:;rdu"ﬁ-w}ufr (5)
(A) 1 ® (€ 3 o4
(6) Earth's gravilational force of all."raction vanishes at: _.;_Jkﬁ.._f".iu&;'d’gdg."f_fg.'} (6)
@ ninity ;b (B) ¢ AF 6400 km (C) £ %<¥ 42300 km (D) ¢~ 1000 km
(7) One horse power is equal to: ..'f_..:l,:nlt.u:[._._.fl (7)
(A) =i-674 walt ® - 746 waut (C) 15 647 watt (D) <1 110 walt
(8) In Einstein's imass-energy equalion “C" is lhe. -.:.-_r.-'}tﬂ C Lol ndeyT (8)
(A) Speed of sound .I_.;d'h? (B) Speed of Earth iz (o2
(C) Speed of electron 4y 42 @ Speed of light A
(9) S.lunitof pressure is Pascal which is equal lo: -l 'i._ﬁ.esl_uf’t....-uf/w.u ;.:lf" (9)
(A) 10%Nm2 @ N2 (C) 102Nm™2 (D) 103Nm™2
(10) Co-efficiert of volume thermal expansion of Brass is. R ..r,z-’(:flr’&‘i 1 J.'.’._).‘.',';JJ;&’,_,E" (10)
@6 0x 105k’ (B) 2.4 x 10°3"" (C)7.2x 105 (D) 4.2 x 105K
(11) Thermal conductivity of Copper is: _;_,_:g_,_-‘-"j;uid’{( (11)
(A) 0.026 wm k! @ 400 wm' k! (C) 0.6 wm™'k"! (D) 105 wm™ k!
(12) Which of the following is a good radialor of heal? ".‘;..;:Idé)u{‘!‘f:,;liz'_(fdf:_JJ-)'_F# (12)

(A) A white surface R

(C) A green coloured surface U {, (i

(B) A shining silvered surface 5"-.3}511...5;.{1

@ A dull black surface  Eab-Chie L



‘th'ﬁil.'s (Crlyeetive Type,
Marks: 12

Time: 15 Minutes 2216123

n.r‘*,f}u?’

12:4

.’.’,thumr.-qmt-.-.,;:’r et Wi £ DA G, Hpﬁ...-,-f.ﬁi.-{._h_;ﬂ&fdm ek AT Slppling §
e LS eSS L uhE DL CB A L
HEITE.' Wrile answars 1o tha ruestions on abjective answer shieel provided, Four possite answers AB.C & D 1o cach question

oro glven Which answer you considor correct, i) Ihe conaipanding circle A B.C o O given in front ol ssch questsmn wiin Marker

or pen ik on Ihe engwor sheal provided,

1.1, In systom Imermnational. the yni ol pawver is:

@ War oy {B) Volt oty
2. Machanical advantoge of serew daek is:
) M =2 () H“z;i
3. |H_B}‘5ll.!m infernational, the unit of prus:lum is:
(&) Nm {B8) Nm"
4. Co-efficiont ol linoar expansion is expressed by,
- ® B
5, _ The book "Al manazar™ was writlen Ly
{A) Akundl f50 (B) AkBerumi (b
6. The unil of velocity is.
{A) me? o m:"

7. The rate of change of volecily Is known as:
(&) Displacemont -'-r""ui . Acceieraion th"'fF

E. In system intemational, the unii of momentum is:

ST AW o B

(C) Joute ) (D) Newlan g
--:...m"fl.-‘gpch-ﬁ{.n‘ El
c) M 253 io) A --—
Fa& L --;—Jr':-‘f"fsﬁﬁ'l"" 3
. Nm™* "N
P AT (T P
() ¥ (o) #

S i s X
. In-ul-Hallhom ,—"J futd (D) Arisiolle A=t
—e LN B
{€) m (D) ms
-LEEIL,:'\IJ.#U'T: = |
(D) Distance Jei

- 8

{C) Mation g

{A) ms* (B} ms? [c) Nz ® ns
9. s voctor quontily, P 9
@ Velocly (B) Speed L- {C) Mass 1t (0) Time r
10, 5in@ fs equal fa: -=ssind 40
A pependodar 4 B)  Bose 4er (O Base 5 @ Fesendous o
' Bssa  ,.F Hypolenuse 5 Perpendicular ¢ Hypolanuse 3,
11, The equalion of Torque Is: : —e il i 11
1
= = e— F J -_‘r—
[A) F=ma (8) o, =~ JF gy ©) =7

12, In system internalional, the value ol "G” is:
5
(A) 55710 'Nm'Kg™  (B) 6.67x10™" NmiKkg™

6.6T73x% 1o N K

= =fJ 6" uc._}-'r"’ A2

@ 65710 Nm’ (D) 6.67NmKg®

333-00-A-Yr ¥



TIME ALLOWED 15 Minutes’ OBJECTIVE ()*%e asrid e
MAXIMUM MARKS 12 12= AS

Ak | ARSI IL e vl s\l D (W87 s D 0 © B A 2l -2
34PN N2 e LS L St it adi eSS S \ LS tien £ 22
Note: you have four choices for each objective type question as A, B, C and D. The cholce -L{/;J'J&.'..-.mr
which you think Is correct, flll that bubble In front of that question number. On bubble shaet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark In that question. Attempt as
many questlons as given In objective type question paper and leave others blank. No credit wiil be awarded
in case BUBBLES are not filled. Do nol solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 - A

(1) is the unil to find the quanlity of mater in a substance. e L SR sl M
(A) Gram r':’ (B) Kilogram r');r (C) Newlon /% @ Mole Jr e ‘

(2) The motion of a bedy about ils axis 1 called - *‘E—*J"'-'g"";(?’)"';fr%'l @
(A) Circular motion J’v';/ @ Rotatory motion IS
(C) Vibratory motion Jr;_s;-, AN (D) Random motion Jfrl';«

(3) By dividing displacemenl of a moving body with'time we obtain:-  .< g P 5—-";‘-:”-;-33’{ *—"‘JU 1L ( {J;?Vrr )
(A) Speed ir (B) Accelaration Fye @ Velocity U (D) Momentum (%

(4) Amongthe materials ____ - 'h..-.r.(fﬁ,yg-miufc.-..'{auyzt«"-’-u}'d'iiﬂ.’ll’f ‘-v::l‘}:f-f,-'i‘*-"” (4)

lowers friclion when placed belween sliding surfaces.

(A) Waler Jt (B) Marble powder J3itErf  (C)Air 1 @o S

(5) Slunitof weight s - ' -c-bsttiy Sl i (5)
(A) Kg ¥ @ N o (C)J Jz D) m #

(6) The number of perpendicular components of a veclor is:- -f—Jﬁ”-“’-Jﬁ:f,rJ"':—f';J' (6)
(A) 1 ® 2 (C) 3 (D) 4 3

(7) The orbilal speed of a low orbil satellite is.- ‘ -c_-JﬂEfoi—fjlfJJ I-t""-':-d-'.ﬁ-kf- (7)
(A) Zero & (8)8 ms™! (C) 800 ms™1 @ co00ms™'

(8) The work done in lifting a brick of 2 mass of 2 kg SV el bl ESAS S m e gl LI SrUE 2 (8)

through a height of 5 m above ground will be:-

(A)25 S (BY10J . (C)504 @ 1001)

{8) In Einstein's Mass-energy equation, 'C’ represents the:- - 870 'C e G AN e T (9)
(A) Speed of sound .;;Jﬂﬁ @ Speed of light .&:st
(C) Speed of electron é—,-';,r- a1 (D) Speed of earth -E-:'JrFi

{10} is the lighlest metal -"_-'-LE-'- —alkr _ (10)
(A) Copper ¢ (8) Mercury /7 @ Auminum @ (D) Lead i/

(11) Normal human bady lemperalure is:- _q.}/fﬁf’?db-‘w-.:#‘;,_bt (11)
(A) 15°F @ 37°c (C) 37°F (D) 98.8°C
(12) False ceiling Is done {o:-
(A} Lower the height of ceiling tJI‘rJl:’ ilJ..:.g'
(C) Coal the room L‘:«IJ'J‘:‘L_((

- LG Suirdi (12)
(B) Keep Ihe roof clean tiiilsles |
@ 'nsulate the ceiling t./e) =g
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PAPER CODE

2017 (A)
[NUMBER: 1472 SSC PART-| (8th CLASS)

PHYS| j
CS (NEW SCHEME) GROUP.I  ( 2015.2017 I maa) (£ 2) J?
TIME ALLOWED. 15 Miny(es OBJECTIVE (/e

e 185 = =3

12: AF
Ao o8 Sl 2ol g ne sl sl ima oWz g4 0 D W C B A 22l Ly -2d
N A el o Bubbles  tur ot sanfL Sl Sor p LA e i 2

Hote: You have lour choices for sach objeclive typs guesiion as A, B, G ard 0. -;{Jiirf.ﬂ- g =

The chalcs which you ihink I8 corrocl, Ml that clicle in tront of that questlon number, Use marker ar gan

to il the circies, Cultlng or flliing two or more circlea will ragull in zere mark in that question, Attempt as

MAXIMUM MARKS 12

many questions as glven In objective typa quedtion paper and isave othars blank. No cresit will be awarded

In cose BUBBLES ara notfilled. Do nol solve question an this aheel of OBJECTIVE PAPER
G.No A

- | ;.'Ur

(1) The number of sgnificant Sgaresin 100 & 5 [y

i arafnZ W08 (1)
A2 (8) 3 @« iD) 8
(2] Tha smaiies! guantity i - . S XN =]l
(A 001 g {8 Img {C) Walg @ 5000 ng
13} Falcon can fy a1 A spesd of: - Theled o @
(&) 200 min*? {81 2000 mn-? {C: 20000 mh! @ 200000 mn"
(4] Inerua depends upon - AR W
(A) Ferea o) (8] Netforce e () Mass o (D) Vetosity o
I5] In & tight anged triange lengih of Dase is Sedudai dem Joie g en S less ok wd s 0 5
4 em and length of peizesticular ik Jem_ (hen tha Bagth d"hrp.pnm“ [ §S
® 5em l 25 ¢m (C} Sem iG] "Sem
{8} The value of “g" 5t maon's turtace ic ‘..'r,-,-:.r-r-‘_gz 100k ¢y o 13 me? 200 5 L 16}
16ms? . 1re mats of 100 kg bady en the srace of mosn will be -
A 100N & mon (C) 1000 N (C) 1600 N
{71 The alituce of Geostaicnary Orits in whizh .1.3::;.;'!:$:MJ;.H.,5LIJJJI**¢: S LT TR
comEmRneation satalte ars luncned abowve the surface of tha Eartn -
{#) €50 Km {8) 1000 km (C) £4U0 Km @ 42,200 km
(8) The rate cf dong werk is caled: WERLALAL W
[A) Eneigy S (8) Torque G¢ @ Fower .y (D) Momentum (%7
(5) in___stale of mattet, Molecules da not leava their pasiton Lfpdaflson G @
i Sod A (R} Liguis & (C) Gas 7 (D) Maema L4
(10} Nermal temperature of numansody iy - S L 1)
(A} 159¢ @& 7t (C)379F (D) 58.6°¢
(11) False celing (s dore for- et fagduadi (1)
[A) Lower the haight of cailing 1.-’]'?--{&{_—.{ [B) Keap tha ool clsan o5 iiilay®
(C) Conai the room ¢S ) @ Insulats the celling ey’
(12} s a goed radiater of Heal wdafdar 13

{A) A shining silvered surlace .':.'.,'E}-Z',_.E:__:q
@ A v ock surtate L Jis

(B) A white surtace f-0i
[D) A grean ccloured surfase St

1BOSNTT)-201T(A) 45500 (MULTAN)
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Note: you have four cholces f w4 I ..fmraﬂ.,.l.m.nﬁdmr'dlﬁ JaX L S isimlieti s

T — or each objective typo question as A, B, C and D. The choice LSSty
carrect, flll that bubble in front of that question number, on bubble sheet. Use marker or pen

to fill the bubbles. C i
- Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded i
an in case BUBBLES are not fillnd. Do not solve questions on this sheet of OBJECTIVE PAPER.
.No.1

(1) Which one of the following unit is not a derived unit?

(A) Pascal - @ Kilogram 1%
(2) The length of vernier scale Is:
. g mm 10 mm

(3) A ball is thrown vertically upward. Its velocity al

(4) Newlon's first law of motion Is valid only in the absence ol

(5)

(6)

(7)

(8)

(9)

the highest point is:

(A) -10ms™ @ zero ¥

(A) Velocity s @ Net force yiier

The value of Coefficient of friction between tyre and wet road is:

(B) 1

. 02

The number of forces that can be added by head to tail rule are:

(A) Two (B) Three £
The value of "g” on the surface of moon is:

(A) 8.87ms "2 (B) 3.7ms™?

The energy stored in a dam is:
(A) Electrical energy Sk A
(C) Elastic energy (. /\L-ik!
Which matenal has large value of temperalure
coefficient of linear expansion?

@ Auminum (= (B) Gold 2/

(10) The densily of aluminumis:,

(A) 2500 Kgmi™? (8) 820 Kgm™

(11) In solids, heal is transferred by:

(A) Radiation oIS @ Conduction %

(12) False ceiling is done lo:

(A) Lower the heighl of ceiling t.»?dt'r -Id'..-:-;’
(C) Cool the room  t/ikHC_ /

A Ay

?;.J:f;-;.:sﬁ._-;gwf.:_._,tul
(C) Newton o/ (D) Walt Lt
eSS
(C)l2cm (D) 10cm

ik -;_—"'Ef: -t )u.,({ ! 'J:’f;g’ ..-E' !

” . ’ - P B
B L VA

(D) None of these u'f:;' 'Jf;.;.'-'w

fe b Sy ST Lok v dis

(C) 10ms™"

(C) Torque it (D) Mpmenlum (?:-'
s et SefFtasdnl il st
(D) 0.8
-t a ﬂ:‘f\s"(‘f‘dt-""?:'.-;‘d’-'.‘gla- ik i
@ Any number S
S N G Y A
(D) 274.2ms™2

(C) 06
(C;‘ Four t:'-'

. 1.(-52rm;‘2

@ Polential energy G/1U f';
(D) Thermal energy JALf
e Jnmpredfut gt s
(D) Steel £~
e
@ 2700 Kgm

e e an S tpivd

(C) Brass J&

(C) 7900 Kgm™>

(C) Convection ;f‘::'f (D) Absorplion i
PN (O R o

(B) Keep the roof clean iler

@ Insulate the celling Sl ey

(1)

(2)

(3)

(4)

(5)

(&)

(7)

(8)

()

(10)

(11)

(12)



Physics (objective Type)
Maorks: 12

Time: 15 Minutes &216:=3

WIS

- 12:0

’ LA ntn A 2 D C B A=A L Jiry Lozl
et e Sustre L ED L CB A EL

- NOTE: Write answors to the quastions on objeclive answer sheel provided Four possible answers A.B.C & D to each questic

are given.Which answer you consider correct, fill the corresponding circle A B,C or D given in fronl of each queslion wilh Marke

or pen nk on the answar sheal provided,

1.1, The leasl count of meler rod is:
® 1mm (B) €.3mm
2, The maotion of pendulum of clock Is:
(A} Linear motion o740
{C) Rolatory mation v Zi
3. Tha formula used 1o find centrifugal force is:
tay ®

' i
4, Spring balance |s used lo measwie,
(A) Mass U (B) Temperatura .2
5. Find the magnitude of force Il s perpendicular
components are [Fx=4N, and Fy=3
. 5N (a8) 18N
6. Value of g on Mars is:

e @473 . 3an
7. A body of mass 2ug has K.E=25) lis spoed is:
{A) 50ms™ (B) 12.5m5™"

B, The value of almosphoric pressure ol 5&a level is nealy:

= (A) 110300Pa {8) 103100Pa
8. In Einsliens mass energy relation C reprasents:
(A} Speed of Sound Le T
(C) Speed of electron AzJufd
- 10. The formula of Lalent heal of fusion is;
. AQ =mHf B) 80 =CHf

11. Heal capacily of 5kg of waler having specific hea! equal

1o 4200JKg 'K is:

(A) SJi! . 21000JK
12. The S.) unll of thermal conduciivily is:

(A) JKgi" (B) JKg'K

Oy | O 51 A B
{D} 0.00m
el LN 2
@ Vidratory mation ol )
(D) Randam maotion uffrﬁa.«

(C) 0.61mm

IR P ARTRY AN IO

-y’ gy v
.= o
P P T P
@ Force o/ (D) Time F¢
EHGE T g S Sni g 5
Fx=ANAFy=aN e i
(C) ON (o) ™™ ;
--,'——1:-111.; ‘gelr 6
[c) .87 (D} 162
il e 2uESAOL SN2 T
(C) 25ms" @ smst .
%:-EJJ&{JJE’W{ME A
@ 101300Pa (0} 100130Pa

e e el T 3

@ Speedol ighl Ll
(D) Specd of earth Lot

e drifedadUnd 10
(0) &0 =mCf
l.!.l:'-ﬁ'—_'.“ AHJEEF"JJ'IJLEW 1"
42004Kg "K' e e d e i

() Af=mCfaTl

(C) B4OJK (0) 0.00114K"
- S WL LY 12
. WK (D) WmiK? =

227-08-A-3T



Physics (Objective Type) (3 }U’S’ -
‘Marks: 12 Time: 15 Minutes L2162 12:4 dt
*_ HJWJ;:.[!U&*-._:" e g P L& iDun C B A RS C iy :%grdw" fq.r'd:..pﬂa:... W iFis

el e ndte il 0| CBAIZEL
NOTE: Write answere 1o the questions on sbjoeclive gnswer sheel provided. Four possible answeds AB.C LD lo esch question
ate given Which answer you consider correct, fil the cotrespanding clicle A,8.C or D given in front of each question wilh Marker
af pen ink on tha answer sheol provided

1.1. The number of bast units in 51 s -.E_alﬂJ.,,ri{Jd_.Epfsl i

(A) 3 (8) & ®’ o) 9
2. The uni of velocily is: e 2
(A} m-S ® s’ (cy m-s? (o) m*.s?
3. The fermula of Newlon's seeand law of mation is: ..:-_ﬂ.r';l.ifuifﬂ‘,-wl':ﬁf'i"ué! -
@ rF=ma 8 F © F=2 (D) F=m’a?
a I
4, The formula of ceniripetal accaleralion u. -Fﬂrxl.if._-.r"f.v"r:d?..l}':' 4
A _¥ A _
E A a, -5 .' a, E et ﬂ"=lﬁ (o) gr_-g
5. The unit of lorgue Is: el 6
@nm {8) Nm” {e) N'm”’ {0y N¥m?
6., The lormuia of masa of eath is: - UrARnRL: B
.H =£35. (8 M, = Ig}g’ ) MF:E © =H"'g' .
B ¢ G & e
7. Oné joule is equal lo: etz Ll 7
] @ 1=1nam (B) 14=1N.1S {C) 1J=1N.1h (0) 1d=1N.1m?
B Mass-gnergy equalion is: ez tibalil B
® Esme’ | (B) E=m’c’ {C) E=mc oy E=2
9. The unil of densily is: T T I
{A) Kgm (8) Kgm" (€) Kgm* @ xom®
10. The Formula ol specfic heal is: b2 10
@ - 22 @8) =8 (c) o=40At (0) = B0
maf Ar . m A
11. The befling point of lead is: -SSR 3
@ 1750°C {B) 1751°C (€) 1752°C [D) 1753°C
" 12. The major source of heal Encrgy is: *‘:--:""E"’*'m;""'-" A2
@ Sun b (C) Earth 23 (D) Cloud b °

(A} Moon J-&
|

295.00-A-3%
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Note: You have four cholces for each objective type question as A, B, C and D. The cholce -u.{/c‘-r.)'?;:-'-“"‘
which you think is corroct, fill that bubble In front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result In zero mark In that question. Attempt as
many questions as glven in objective type question paper and loave others blank. No credit w!ll be awarded
in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 _ | A A

(1) InS.I system, the unit of mass is:- -g:--’-r'-!i'dh.ﬁ(’/ st (1)
(A) Secand i€ (B) Meter % @ Kiogram (/¥ (D) Newton o

(2) The motion of a body in straight line is- : . -ealk(cffufﬁw b"tﬁf" lff (2)

(A) Circular motion Jv‘}} (B) Random motion Jfri':x
@ Linear motion Jr;" (D) Translatory motion oy

(3) InS. system, the unit of Momentum is:- ..:_,.-;_'b’(? sl ()
® Koms™ (B) Kams™ (C) NS~ (D) Nm

(4) In Isolated system, the momentum after collision of two bodies is:- _:(u‘fr'b’(LJJLhLvFuu-'fy WAT ()
(A) Increased < tboz @) Constant .;_.EJLJ;:" (C) Decrease q_’clgﬂfl (D) Zero .::.i:p}'

(5) The number of forces that can be added by head to tail rule:- -Q.Cﬁ@lf b’*ﬁﬂﬂd’ y;;’a.dudf'fé;: (5)
(A) 2 (B) 3 (C) 4 @ Any number g

(6) Thevalueof '€ atmoonis: il g s (6)
(A) 9-8ms & (8) 10ms™> (C) 1.7ms™> @ ' 6ms?

(7) In Einsteins-Mass-Energy equation, "C" is the:- .‘-‘-_J)‘}Iﬁ o LehdianddedT ()
(A) Speed of sound ;};thf (B) Speed of Earth }_.;Ju'.'}
@ Speed of light J;;Jo% (D) Speed of electron ,Q-;Jus,’o?l

(8) The formula of Power is:- - Uk (8)
(A) P =W & P=£ii (C) P=mv (D) P =ma

(9) InS.I system, the unit of stress is= ' _;__-,:zg’uf)-,;("’ SHdA @
(A) N @ (C) NS (D) Nm

(10) The thermomeler is use to measure:- etpeid Lo )’Jjg;}:,-/* (10)
@ Temperature of body .:uli._mb’()' (B) Force s (C) Length Ju (D) Time =3

(11) In solids, heat is transferred by:- 3 I z’dlf"bﬂrlft'u'r:’ (11)
(A) Radiation <154, @ Conduction ¢ (C) Convection 55" (D) Absorption /%%

(12) Ingases, healis mainly transferred by:- Y S Lo (12)

(A) Molecularcolision. #4424~ (8) Conduction ¢~ @ Convection %" (D) Radiaton o251,



PII}’SEES (Qbjective Type) Group -It-‘.r.uf

Marks: 12 Time: 15 Minutes 2201523, 12:4
LHJM{{I r;!b!ilﬁrdfﬂf#ﬁ.lﬂﬂr‘rﬁil’__ 10l B A= lf.ﬁ-i'.',l d:drﬁgn."qrqfﬂﬁ!l'hﬂjr;ygiaﬂ,?ﬂ:g:}
W A A LDy B A 2L
er sheel provided. Fowr possible answers AB.C & D10 each question
the coresponding elrelo AB.C or D @iven In front of vach question with Marker

CRNg

NOTE: Write answors lo the quosiions on objective onsw
are glven Which answer you consider correct, il
of pen Ink on the antwer shool provided.

1.1. The matetial which has large specific heat capacity Is; —et) ,&'JLI’.«:J-.:.-H-:!} R |

(B} mereury by

-t ¥infiltnl ¥ 3
(8) big slze of thelr malecules  #LixKf L

(C) small size of their malecules  #tef 5 L1 (D) rapid vibrations of their aloms 242 s4
3. The unil of thermal conductivity is: ST g

J (A) copper 4t (B) lce s B water .:Ig
~2. Melals aro good conducior of heat dus to:

@ free cleciions w7

(A} Wmk ® W'k’ (c) wmi! o) Wmk’
4. Which one of the following units is not a derived unit? fe i sifiale iyl 4
(A) Pascal @ Kicgram 1LF (C) Newlen i (0) Wall =4 -
" 5. Which Instrumeni is most suitable 1o measure tha intermal Jwﬁ_'.LJ'}}“}fyhbe:!w 5
diameler of a l2:l tube? . fe Ul
(A) meterrule i @) vemiorcalipers % (C) measuringtope Sk (D) screwgauge E2F
—B. Veclor quantity is: - T T
() speed &5 ) (B) distance . @ dispiacement wa=ts (D) power sk
7. The value of acceletalian produced by a 20N force in a mass of 8Kg is: —nH e undeid20 U Brasft b 7
@ 25N (8) 3.5 (C) 55N {D) 7.5N
8. Tuming effect of a fores in called: | ST " B
@ Toque S (8) momentum % (C) couple N (@) mass
8. The nrr.t man who came up with the ldea of gravity was: ﬂ:.r"sv L LB e S
(&) Galieo ;_—'.'l'; @ Mewton o (C) Hooke f (D) Einstein flefT
10. The wlue of “g" al the surface of moon is: +Gﬂ=-§1.r"9‘4ttﬁk A0
& (A) 1.06ms™ (B} 0,16ms™ (C) 1.5ms" @ 162ms?
11. The energy stored In @ dam waler is: - Jﬂdihﬁrjlﬁl}p‘:ﬁl 3k
a (A) electric i ® potential Y (C) Kinelie &V (D) Themmal o}/
12. 1 Pascal is equal (o: B e
(4) 10~ Nm™ @ nm” (¢} 10°Nm? (D) 10°Nm?

231-09-A-T0 W



MAXIMUM MARKS: |2 127F

4:.-..{11-2:': ‘ffﬁ'llfi"‘:l'ﬁ;'f-h":ﬂ' -‘f---r-h!’-.'--a-.rr.. ...ﬁw?hi.’:,:tb-.‘: J'r,:a;t!l':}'ﬁ-uﬂii:lﬂ'-i‘c'u‘ﬁ '-"'-""""'F"f&"hf“-#%
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Nute: You have fiur choices for cach ubjective type question as A, B, C and D .The chaice which you think is comeet, fill that :uﬂ: n
in front of that question number, Use marker ot pen to fill the Bubbles. Cunting or filling two ur more ﬂul:lhh:i. will r.:s;f_l:;:::::u: o
that question. Auenpt as many questions as given in objective type question paper and Jeave others blank. No credit wi
case BUBBLES are not filled, Do not selve question on this sheel of OBJECTIVE PAPER.

Q.No. ! bl

e w2 f’-.l; {l]
(1)  The unit of [orce 1s: oA

(A) Meter (B) Second £ (C) Joule Jz @ Newton i )

(2) The lformula ol momentum is: i ST (@
(A)P=ma @r=mv. (C) P=dt (MmP=Fxd

(3) The Moment Arm is represented by a sign: e Fel b =oniraerr (3)
(AT &L (C)F (DN

# =y A f'.! 'I: ] ".II
M] ThL' Il}l‘l‘l'l'l]!ﬂ FDI' Mmass ﬂ'l ﬂ\ﬂ' nﬂﬂh iﬁ: ) y = - 3
' = E‘ .‘lr.l‘:'—_- [CJ JL’-i'f-' —'_. J U-J] .Jl'l'l.' ". — "
tﬂl i -l":l 1 . -_—
i L, --.-'= ﬂod ij)

(A) Newlon of & @ Joule Jz (C) Meter 2 (D) Second =2

(6) One kilo joule is equul to: tetrsalit Ll (6)

(A) 10 (B) 10} @ 10°) (D) 10%)

(7)  The unit of density in System International is: :.'-_.:.-!gr&";-u:f-" A (1)
(A) kgm' (B) Kgm?, ® i’ (D) kgm™

(8) The formulu of conversion from Celsius 10 Kelvin Scale is: =-.=-l'l‘:'-ifi-r'|.:u-"‘cu e J;-J:" (%)
(A) T(K)=270+C (B) T(K)=271+C (C) T(K)=272+C . T(K)=273+C

(9) The specific heat of ice is: s A 28T (9)

@ 2100 )K" K (18) 2200 JKg" K (C) 2300 JKg' K (D) 2400 JK ' K
The value of coelTicient of lineur thermal expunsion off

“u] hms 15 :lir—ﬁéL;#;LtF;L;HJJ'!J;Lﬁ (“}J
@107k M) 1.9 x 10t K 19 x 107 K! (M 1Y% 10%K!

(11) The unit of volume is: tmedyip=h (101)

(A) Meter 22 (B) Force d @ Cubic meter # £ (D) Second £

(12) The formula of velocity is: e i (12)

- u
(A) V—d 3] ‘J=-I- (C) V=d+1 (D) V=h+t
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cen for each objective type question as A, B, C and D. The choice -..{/::.fj:f&l""
which you think I correct, fill that bubble In front of that question number. On bubble sheet, use marker or pen
Lo Tl the bubbles. Cutting or filling two or more bubbles will reault In zero mark In that question. Attempt as

ma
ny questions e given In objective type question paper and leave others blank. No credit will bo awarded

In cane BUNBLES are not filled. Do nol so've questions on this sheet of OBJECTIVE PAPER. .

Q.No.1 A A

(1) Newton's Firs! Law of Motion is valid only in the absence of - -{..rnJu-‘rl'.;frdfF«E-:écffuﬁbGﬂ”ﬁi i ()
(A) Force of @ Netforce yoie  (C) Friction o7 D) Momentum fy’ '

(2) Aforce of 10 N is making an angle of -I’na&,f(};l!’wﬁﬂ -{-Jhgl”f 30° AL 1= XLl 1N @)

307 with the horizontal-axis Its horizontal component will be:-
(A) 4N (B) SN (€) 7 ) LN
(3) Thevalueof £ alaheightof one earlh's radius above the - Jrafidifiel el-’-’-uﬂfc-s:ﬁit:d’l.( & Q)

surface of the earth, is.-

(A) 2¢ (B) %g © %g | (D) %H

(4) If the velocity of a body becomes double, then its Kinetic energy:- -!Léffu@dﬁfaﬂ?'dgﬂfﬁﬂ ﬂ:Jfo (4)
(A) Remains the same ¢ e/ (B) Become double ¢t/
@ Become four limes < Jlrrt/il (D) Become half < Jbanfi1

(5) Rate of doing work is called:- _ GEANL L )
@ Pover (B) Torque ¢ (C) Velocity (s (D) Momentum (%

(6) The approximate length of a glass tube lo construct a -g.gd::ljwdyd;ﬂfgé_lLhﬂy_zh’ g (@)

water baromeler should be:-

(A) 0.5m @!im (C) 2.5m (D) 1m

(7) The number of ways by which lransfer of heat lakes place:- +:lﬂJu,? Me2Je (1)
@: ®2 (©) 5 (D)4

(8) The value of specific heat of dry soil is about- el Il i§S S (8)
(A) 4200/Kg 'K~ @® soske'k!
(C) 700Kg~'K " (D) 3000JKg™'K ! ;

(9) Land and sea breezes take place due to:- .,:_3,;8 heanf U/'(-Jf"dzr-) (9)
@ Convection current .tz'fu"::‘( (8) Conduction r)y.b’ (C) Radiation J‘-’lgﬁ; (D) Absorption uﬁﬂzl

(10) ___isthe smallest quanlity. Mo (10)
(A) 0.01g (B) 2mg (C) 100mg @ 5000ng

(11) Conversion of ms™" to Kmh™'isequallo- .ri-..(];rd;wf,__ S5 k! ot (1)
(A) 0.36 Kmh™' (B) 0.036 Kmh™ @ 36 Kmh™' (D) 3.6 Kmh™!

(12) The unit of Momentum is:- < &!‘f?f (12)

(A) Nm (B) Kgms™ ® v (D) Ns™
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it o hava.:otl’ "/:’ JL‘:&JJ'JLI::-“ -'JE'JJ}U -fﬁ:r"-ﬂylﬂufilﬂ.:ufJ.l_& f""rl L"/“'/UJ;'”’L;G-—g -é"
ur cholces for each objective type question as A, B, C and D. The cholce .»._).')::JJG.:.LIV

which you think is ¢
orrect, fill that bubble In front of that question number. On bubble sheet, use marker or pen
o mark In that question. Attempt as

to
fill the bubbles. Cutting or filling two or more bubbles will result In zer
t will be awa rdod

many questi
s ons as given In objoctive type question paper and loave others blank. No cred!

lQn';r;:' BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAFER. P /'.}be

(1) Normal human body temperature is:- -4—;5-/:} 'ﬁﬂ B Wt ()
(A) 15°C @ 37°C (C) 37°F (D) 98.6°C

(2) ___affects evaporation. .‘l'.,r):t'?fc)g.u,ﬁ.f' (2)

ngel (C)Air = @Al of these fealures Jlf(l?f'.:
et ©

W g @ Convection el . ED) Radiation ¢*Ihs

(A) Temperature ,Z/.'.I (B) Surface area of the liquid .

(3) In gases heat is mainly transferred by:-
(A) Molecular collision 3542 (B)Conduction

(4) ___isthe unittofind quantity of matter in a substance. < _l;gﬁ.,)f-}-‘ﬁlﬁdl.ﬂ {4)
(A) Gram 1/ @ Kiogiam (¥ (C)Newton (D) Mole J¥’

(5) ___isavector quantity. -:,:.;lﬁ/’.fu{l___ (&
(A) Speed & (B) Distance J#b @ Displacement =" (D) Power s}

(6) Inertia depends upon:- ' -%;1}!(?}! (6}
(A) Force 4004 (B) Net (orce_gw}.e.,-' @ Vass o (D) Velocity 751

(7) Among these materials -9.dgn[f)uy».ﬁufc.afwyuéuf’dw‘./i'wf cApdivs  (7)

lowers friction when placed between the surfaces of slide materials.

(A) Water {L (B) Marble powder sisig/f  (C)Air in @oi JT
(8) Aforce of 10 N is making an angle of 3P bresd P o dti 30° AL A wilifg£10 (8
with X-axis. The horizontal component of this force will be:-
(A)4N (B) SN (C) 7N @ 87N

(9) The value of g at a height equal to earth's radius above the -f.Jn{JAU,VLJ,;,Lg: Y - ,f,'_.; fog ©

surface of earth is:-
1 1 1
25 B 1g © 1 el _
(10) Ifthe direction of the force s perpendicular to J:rJ:?;rMibﬁuJJnffqu}'ﬁ (12,

the direction of motion of a body. Then work done will be:-
(A) Maximum wlig@  (B) Minimum ‘fJVl @ Zero ¥ (D) None of these u.";Lf:ch..ﬂul

(11) The work done in liting a brick of mass 2kg . _b'ﬁ..ﬂstL_fuCLt_;L.ﬁfﬂ:J 5m c_uii.bk!._flLﬂ'l)’:‘ 2 (11
through a height of 5 m above the ground will be:- :
(A) 254 (B) 10J (C) 504 @ 100J
(12) substance(Metal) is the lightest one. ..f..lﬁc:.u’ (b)Z (1%

(A) Copper ,;l’ (B) Mercury Lf// @ Aluminium f-"'él (D) Lead
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Note: Yau have four choices for cuch objective type question as A, B, C and D .The choice which you think is correct. Gl that Bubble
in front of that question aumber Use marker or pen to fill the Bubbles. Cutting or filling two or more Bubbles will resull in 2era mark in
that question Auempl as many questions ad given in objective type question papes and leave others blank. No'ccedit will be awarded in
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Q.N{}. ] [ = ./:;'J".-
(1) Animerval of 200 15 is equivalent to: :.;_.J,p.ﬁ.r.:éhftzuu (1
(A)0.25 (B) 0.028 @ 2x10"s (D)2x10°S

(2) A ball is thrown vertically upward. Its velocity at the wWmdodu £f Gt el il fof )
highest point will be: = T

(A)-10ms™ @ 20 ) 10ms” (D) None of these &' 07 2o
(3) A change in position is called: | O At (3)
(A) Speed L7 * Velocity ¢t @ Displacement eyl (D) Distance Ji
(4) Inenia depends upun ..:_ranﬂ;-il (2)
(A) Force 4.7 «Net Force 402 (@ Mass 4/t (D) Velocity 2uv
(51 Newton's [iest law of modon is valid only in q:.rn.j;lhf.:.;r.:.ufﬁ.é_;ﬂ..-.i.:;*.):JJﬂr‘-!-..f ($)
the ubsence of : : i _
(A) Force Jo? @ Net Force Jules (C) Friction o7 (D) Momentum <
(6) A force of 10 N makes an angle of 30" with the x-axis. e (b ¥30" FeLx-axisgid LSt £10 (o)
The horizontal component of this force will be: :f;':-—'_é_?'-r._n.i;-
(A) 4N (B) 5N (©) 7N ) 8.7N
(7)  Waulue of g increases with the: e z=ddy (M)
(A) Increase in mass of the body e 2u/We* (B) Incrense in altitude == 2S5
@ decrease in altitude .:...*'...-fr"d,é (D) None of these &7 = Lo
(8) The work done will be zero, when the angle ¢, fyje b e n L im i (8)
between the force and the distance 1s: » .
(A) 45° (B) 60° @& 90" (D) 180°
(9) The rate of doing work is called: WM APSES T (9)
{AY Energy JA (B) Torgue St . Power st (D) Momentum ("' ”
(10) According to Archimedes principle upthrust is equal to: e dnaad MM LI L s (10)

@ Weight of displaced liquid 41.ZunZELnitr (B) Volume of displaced liquid aalpdilSlnlipss
(C) Mass of displaced liquid #zZnEELnibes (D) Nonc of these &/ i2on

() is the material which has large specific heat. e carnlizgedAw____ (1)
(A) Copper 4¢ (B) lee @ Water (D) Mercury §//
(02) _ isuagood radiator of heat, -f_ﬁld,},mfl.!.:”-;___ (12)
(A) A shining silvered surface §'d7 0420 @) A dull black surfoce” Endie L

(C) A white surface £ -0 (D) A green coloured surface CSkipeln



TIME ALLOWED: 15 Minutes OBJECTIVE (8%~ | 2215 =

MAXIMUM MARKS: 12 / .
12=
S b SN 306 b . ) A
) /-:" .,‘l ‘l J) 'J:J’ £--;-'f.r'."n..-aJc-b¢ Uubéé-.!d-(fédlr‘ﬁ{{ifdm .:q‘_lf!é—: D CB A .:,[,ly_;ﬁ'lrﬁdlrﬁ ot
2 B2 . § 2 ,
Nolfet (et Ko A et Sl Ao b e SLIG S | 1L finsmiet 25
whic-h you have four choices for each objectivae type question as A, B, C and D. The cholce _‘)_-,[‘_-,J-):f_._,m,
you think is correct, fill that bubble In front of that question number, on bubble sheat, Use marker of pen

to fill the bubbles. Cutting or filling two or more bubbles will result [n zero mark In it will be
s shaet of OBJECTIVE PAPER.

that question. No cred

awarded in case BUBBLES are not fllled. Do not solve questions on thi
Q.No.1 P / .
(1) Amount of a substance in terms of numbers is measured in: -.—_-_...-x‘gifz'..)?':"":lﬁ'&l..:tu-'«i-;}‘r (1)
(A) Gram .’,';' (B) Kilearam rn,‘_'.'f (C) Newlon Y . Ml
S Halinse S LS i (2)

(2) Which of lhe folloving is a vector quantity?

.Displacement awe st (D) Power sl

(A) Speed ir (B) Distance ol
(3) Inertia depends upen. i ?-T-{‘/:L"ﬁ'{'ft’. WS ()
(A) Force o>+ (B) Net force e @ Vvass Ut (D) Velocily S

e ‘ 5
(4) Which of the following is the unit of mementum? -.j..-b:.;'b’,/“,":-uuﬁJ,J-?u-‘ (4)

' . Ns (D) Ns~!
e ey S, e JsiFik  (5)
. Any numbers :lﬂder(

-q_f!t:m.fﬁuz;'u“"-"df/&- 25 (3)

(A) Nm (B) kgms™

(5) The number of forces that can be added by head to tail rule are: -9

(A) Two = (B) Three £ (C) Four
(6) Earh's gravitational lerce of altraction vanishes al.

(A) 6400 km 7 6400 km ; @ I-fintty distance bty

(D) 1000 km ¢ 1000 km

(C) 42300 km 4 42300 km
-TL;-::’m@t}i’d‘bl?‘_.lg::tﬂ:&khd’("’b ,a"; (7

(7) It he velocity of a body becomes double, then its Kinetic energy will:

(A) Remain the same o Fnet (B) Become double < Jig#

@ Become four times .f_prrb'T;._» (D) Become half d.f:“:va.:..-i&"

(8) Unil of eneray is: —e S G
(A) Newton ¢/ @ Joule U (C) Meter /< (D) Second A&
(9) In which of lhe following states, molecules do not leave their posilion? l.'.’_.,-.-z',,,ﬂ-';-‘?.:i:;} l)ggt._,:.:.lbu‘u:_{_ﬁ_.l, (9)
. Solid g,';j (B) Liguid fol | (C) Gas ..,.“-’ (D) Plasma Litt
(10) Which of the following materials has large specific heal? e Joara a2y C o (10)
z e L =R e
(A) Copper ¢¥ (B) lce s« .Water Jg (D) Mercury S
(11) The unil of specific heal in S! Is: N
e bt s A2 0 S (1)
@i ' J "K ':a) Jkgk! 21 I
g (C) Jkg 2K’ (D) Jkg2K2
(12) In solids. heat is transferred by: ’ :
g Maardengebst (12)

. g ;f_- , &
@ Gendlisdion; o # (B} Ratationer s (C) Convection 5" (D) Absorption %!



